videliol WAIfEol (1323203) - (ei10] 2023 2iicjelal by Milav Dabgar

ved 1(a) [3 2fel]

N

HINd 62 UiP3(2d © § 42124 d dulidl HI2 s sis dvil

¥dIGL:
BEGIN
Input number
IF number > 0 THEN
Display "Number is positive"
ELSE IF number < 0 THEN
Display "Number is negative"
ELSE
Display "Number is zero"
END IF
END

44l gls: "ol di1a ARudl"

yed 1(b) [4 dyel]
ARIRUH cAIvAIRId S1 4 ARl 4612 Hiall HedH 462 2liddid] HENREH Gid1dl.

¥dIGi:

Algorithm caIwil: FHeliRaM A2d Aissay MR GSAdI HI2 A 21RId2] S2d1 HI2 61 22U-61134-224 U[S1 +42dl
[Fayii de.

\

ARl AciHi2] HedH 2ligdidi VieliReH:

BEGIN
Input numl, num2, num3
Set max = numl
IF num2 > max THEN
Set max = num2
END IF
IF num3 > max THEN
Set max = num3
END IF
Display max
END

SIRAIAINH:

No————

Is num3 >

Is num2 >

Display H End

‘ Start H Input num1, num2, num3 H Set max = num’
i

43 2ls: "um el A4 ciedl”
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ved 1(c) [7 2]
divHid 41 AlGIAA 4 §4eIg2 Hi 542 sdI4] UIA2Aid SIS dil.
BAIGH:

# dlc@uyal Sedeige 3uiddl MiAUM

# 32 el AR diuMi4 Had]
celsius = float (input ("alEAAHI dIUHIH €vd Sz "))

# Yl diuld s2e1geMi 3uidRd s2A: F = (C * 9/5) + 32
fahrenheit = (celsius * 9/5) + 32

# uReim ealidl
print (f"{celsius}°C ¥ {fahrenheit}°F 4l of2u1612 2\9")

26id: dIUHId 3uid2el:

g2s geid

gy Alciu2Hi diuHIA
k] F=(Cx9/5)+32

ks

A1G2ye2 ge-elg2Hi dIuMI4

Huzl gls: "9all ojenisiz, 5ell eidnsi?, 32 GHRI"

yed 1(c OR) [7 dei]
S[R3 dIuR22 o (G2 VUi i €254 UIAlA SISl Geleel A1 A4dl.

¥AdIGi:

261d: UId2did SURBSH Biud2ai

Ay22 qei Gelsel uReny
== Gi21612 © 5 ==75 True
1= 6121642 2l 5 1= 6 True
> sdi HIg 6 > 3 True
< s2dl 14 3<6 True
>= Sdi HIg AU GRIGHR 5 >= 5 True
<= Sdi dlq AH>dI GRIGR 5<=5 True

sis Gels2el:
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# Uiid SUlRsd AHiuedl Gelezul

a =10
b=-5
# GlRIGlR ©

print(f"{a} == {b}: {a == b}")

# GRRIGIR 2l

print(f"{a} != {b}: {a != b}")

# sedi Hig
print(f"{a} > {b}: {a > b}")

# sdi Aig
print(f"{a} < {b}: {a < b}")

# sdi HIg uAAdl GRIGR

print(f"{a} >= {b}: {a >= b}")

# sdl dld AHUdl GRIGR

print(f"{a} <= {b}: {a <= b}")

042 2ls: "Ruiidl" (21414, Rdei-d, vyt UM, AAHIHdI, ag AIE)

yed 2(a) [3 dyel]
vIa2id A1 S21 2194 44w,

¥AdIGi:

26id: vI4Aid S21 219w

$21 2194 qeid

int yelis yeil

float e2li2l [oig yei

str 2522 AU UH&R Y]

bool difSs yei (True/False)

list SHGg, Ged] 2SI ddl ¥ids
tuple SHGIg, 4 Gied] 2SI ddi s
dict sl-dey s

Gelsel

x = 10

y = 10.5

name = "Python"
is_valid = True
nums = [1, 2, 3]

point = (5, 10)

student = {"name":

42 gls: "NIFTY SLD" (dotaf, g-2lesa, sdiza, 2522, A/, dlsd-ily, [Gazy, [Ssei-2las)

yad 2(b) [4 d1ei]
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Nested If Ia2id sis 41 Gelsel 112 AHWdI.
SdIGH:

Nested if: 2is conditional statement 1 i€z 6il% conditional statement @udiq nested if sédmi 241d €. d gl
212did sHHi duIRidIH] Hegzl A1 ©.

\

# -6 I3y, iRy s o © d UsiAAl Il nested if GelsWl
# V4 ol UiPBRa i, di d ¥ © S [Auy d usil

num = int(input("¥S -Gk EVd S2A: "))

if num > 0:
print ("uilB3Rd oiR")
# nested if ¥ UsiA © S VIBRy 4oz a4 © § [duy
if num % 2 == 0:
print ("¥H 4ciR")
else:
print ("[duy HciR")
elif num < O:
print ("42i29 cir")
else:
print("el")

SIRII2AIN:
Yes—» Print Even number
Yes—»| Print Positive
No—»| Print Odd T
Start Input End
Yes—» Print Negative /
No
No———» Print

Hu3l 2ls: "Js vie: As"

yed 2(c) [7 31e1]
Gersel 13 [Afdy usiA1 yiedil/[Heiy ddidl sai-Hig-52id 225y GUAIdI AHAd]
SUIGH:

26id: UId2Ai4Hi [[Ridseid s2id 2sud
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WRSAR &g quzi2l

if 21d 1Rl ¢ IR SIS ydIgd] 0 21Rd Uslyeil

if-else AR 212d HI2 Vis sis, Wizl HI2 Gila (g [eia dal

if-elif-else gell 212di usiud] gell Aeildd ulReimi

Nested if 21Rd igR Gl 2ld sl geiloig [eki

Ternary operator vis digH if-else R0 21Rdl [4ysd
sis Gelsel:

# [dldy [Ridse 2gsuq Gelsel

score = int(input("dHIRI 2SR £vd S2A: "))

# g if
if score >= 90:
print ("GaH!")

# if-else
if score >= 60:

print("dy uid 2yl ©i.")
else:

print ("dy AlMI™ Al ©I.")

# if-elif-else

if score >= 90:

grade = "A"
elif score >= 80:

grade = "B"
elif score >= 70:

grade = "C"
elif score >= 60:

grade = "D"
else:

grade = "F"

\

print (£"dHI2l AS {grade} ©")
# Ternary operator

result = "JUl¥" if score >= 60 else "AIVIH"

print(result)

J443] gls: "SCENE" ([Riwd if, sSe1-1 [d2 else, Elif si2 Hl@ud, Nested siz sinds, visada (G 2-43])

yed 2(a) [3 del] - OR iRl
dRAcid cAvAIRid s2di4i [HaHi [de2 s2i.

¥AdIGi:
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26id: UIIAi4HI dRAcicd uivAIlRid s2di41 [HaH]

[Hau qeid Gelsel
V&R VAl Vi-s2w2si2] Y2AH &I VIS d2R AHYY| A-SRSIR Sid]
< NIPIRN name = "John", count = 10
213 sl A -
N o . NN . user name (HIRI), user-name
sid vl s8R0 4él Yi2l HEIRI, VS| A4 24522812 HI
(HAHI1-)
sd Al=lRy Hial A0 A I A&HR] A age ¥4 Age WA AU ©
c o~ e . yIelid slasad dRuicid 414 dls Gualiol if, for, while, 9oi2 GUId|
[Ra3¢s slasa ¢l
4 53] 2SI s3] 21siy
24y 4¢] 2 GIED ASRSIR dIUR] first name ( first name dl)

4u2l gls: "SILKS" (21341d 2110 2ld, goH1R ifRiad $2s22, @S vi2 S, slasa Adigs, 20 Hiz 24dIGS)

yed 2(b) [4 @] - OR iRl
sik gu 4 %32 Gelcel A1 HHMdl.
FUIGH:

vlAi4Hi For Loop: for qu-i Guaidl sig sequence (@2, 2ud, 2211) A2id1 A iterable 4416552 UR YAR1dd 524l
HI2 1Y B. d sequence I £25 AHIP2H HI2 SISHI s 6dis ydId ©.

# Ukl for qudl Geleel

# [Aeedl €25 il@H-2d (M2 s2dl

fruits = ["apple", "banana", "cherry"]
for fruit in fruits:

print(fruit)

# range $Sel4dl for gu 1A Guldl
print("1 &l 5 eI HdciR:")
for i in range(l, 6):

print(i)
# (2221 A1d for qudi Gualdl
name = "Python"

for char in name:

print(char)

SIRAIAIN:
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/ﬁ Get next

Start Initialize sequence Get first item Execute code block Yes

No——» End

4yl gls: "ITEM" (Iterate Through Each Member) - £25 2102 U2 Y-2IddA SR

yed 2(c) [7 o1e1] - OR iRl
Break i continue 222424 2ilgirdui auxdl.

¥AdIGi:

26id: Break ¥4 Continue 222423

R2H2 éq U LT

guHiall d2d ¥ clelR

Nson ddHI4 gu- 42514 © U4 QU Ul 22242 UR $21d 2152 52 ©

guAl HRIEI YAR1dd- UR %1 8, continue 222H-2 UgslHl siguel sisA

continue  ddHi- Y-RiddA ©is] €l NP
oISl € ©

sis Gelsel:

# Break 242 Gels20
print("Break Gelspl:")
for i in range(l, 11):
if i ==
print("i =", i, "4 du dislx glA")
break
print(i, end=" ")
print ("\nqu AMnd ag")

# Continue 2242 Gels2W
print("\nContinue GeleI:")
for i in range(l, 11):
if i 8 2 == 0:
continue
print(i, end=" ")
print ("\nHi [Auy ol M2 2a1")

SI-”JIRAINH:
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Yes_——» Exit Loop 3

Continue execution after
loop

Condition met for

Condition met for continue? Yes

No

A

Start Loop

T

Skip to next iteration

\ No~,,

Execute remaining code in
loop body

#4u3 gls: "EXIT SKIP" (EXIT with break, SKIP with continue) - gis 12 61¢IR Hls0l, sy 2118l ©Is] €

yed 3(a) [3 apel]
1 21 10 <ici2 4 guail B2 s2d1 HI24i U2 SIS Gi-Idl.

¥dIGi:

# 1 el 10 Y&l 46k B2 s2dl for qu-l Guaidl
print("for gudl Gualdl sd:")
for i in range(l, 11):

print(i, end=" ")

print("\n\nwhile gudi Guaidol s2ld:")
# 1 el 10 Y&l 46k M2 s2dl while qudl Guaidl
counter = 1
while counter <= 10:
print(counter, end=" ")

counter += 1

26id: qu dleidM

ilcioM SIAE
range 12 For gu 20, Algid, HIVIRAI 51622 HA% S2 ©
While qu ¥[2d eRRdl HI2 ag dadls

A2l Zls: "COUNT UP" (Counter €35 Y-2Idd-Hi 4US2 213 )

U 3(b) [4 d)ei]
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dlRidl U2 (i s2dl Hi2di uld2 sis @vil.

* %
* Kk
*k kK

*kk k%

¥AdIGL:

# for qudl Gualdl s 2R Ued [ s

rows = 5

for i in range(l, rows + 1):
# €35 2 Hi i F2dl 1R M= s2qA

print("*" * i)
dsfcls G5d dees g I

# RS qridl GuYldl s34 2R Ued M= s?

rows = 5

for i in range(l, rows + 1):
for j in range(l, i + 1):
print("*", end="")
print() # €5 2 usl Y digH

SIRAIAIN:

Yes—»|

Print ™' *

Initialize i = 1 No—»

A 4

Start »> Set rows =

AY

#u3l gls: "RISE UP" (Row Increases, Stars Expand Upward Progressively) - 21 d€l

yed 3(c) [7 2]
AN 4612 i factorial @lledl H12q Y252 [Sg19 524 Gididi.

¥dIGL:
# Nl il §s2ilRyd ellddl Hizd $seid
def factorial(n):

# g4ye HIRI © 5 4dl d uUsi

if not isinstance(n, int) or n < O0:

No. 9/ 25
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\ N

return "¥MHIR g4y2. sul s34 AH4-401Rg gLlwR evid s2A.L "

# G SA: 0 HYUl 1 4] ss2ifad 1 &
if n == 0 or n == 1:

return 1

# g23214 duld ss2ifRad areid?
result = 1
for i in range(2, n + 1):

result *= i
return result
# $Sed 22 S2U

number = int(input("$s2iRAd 2M4dl HI2 AS -6k €luid S2: "))
print (f" {number} i §s2ifRad {factorial (number) } é")

SIRAIAIH:

et
Start H Define factorial H Check if n is valid ‘
Yes Return

Valid
ND—-{ Set result = 1 H Loop from2ton H result = result * H Return result H End

26id: §seilRud Geresel

4612 Jeldql sseilRud
0 or=1 1

1 =1 1

3 31=3x2x1 6

5 5/1=5x4x3x2x1 120

A4zl gls: "1 Yyl ojiisiR s2A" (el AissiA 1 el dJelisi2 s2)
\
yed 3(a) [3 delr] - OR iRl
1 2l N ui2il odd i even <ici2 2ligididi Ul SIS Gi-Idl.
SdIGi:
# 1 @l N yeldl odd ¥4 even -ciR 2ligdil UIAM

# Y52 uidell gqye dl
N = int(input("N 4l [SMd €uid s2i: "))

print("1 al", N, "¥dl4 even doik ©:")
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for i in range(l, N + 1):
if i & 2 == 0:

print(i, end=" ")
print("\n1 &l", N, "¢l odd HAciR ©:")
for i in range(l, N + 1):

if i & 2 != 0:

print (i, end=" ")

26id: Even 14 Odd s

. N

4Gi2 AUS Usie
Even Ha6iR number $ 2 == 2,4,6,..
0dd -6 number % 2 != 0 1,3,5, ...

q443] 2ls: "MOD-2" (Modulo 2 % even § odd ss] s2 ©)

yed 3(b) [4 21e1] - OR ilreld
Nested (@22 V14 ddI JildH-2 [Sad s2dl HI24] UIAAA SIS GidIdl.

YAdIGi:

# Nested [d22 oi4iddl A4 [S&d s2dI4] YiAIH

# Nested [de2 o419

nested list = [
(1, 2, 31,
(4, 5, 6],
(7, 8, 9]

# Nested [de [Sud s?i
print("Nested [d22:", nested_list)

# Nested Qi Guildl s34 e2s 2ildd= [Sxd s
print("\nNested [Gedl ild@H-=:")
for i in range(len(nested _list)):
for j in range(len(nested_list[i])):
print(f"nested list[{i}][{j}] = {nested list[i][j]I}")

# enumerate 4l Gualdl s34 dslais d
print("\nenumerate 4 Guiol s2d:")
for i, inner list in enumerate(nested list):
for j, value in enumerate(inner list):
print (£"uil3e4 ({i}, {j}): {value}")

SI-”JIRAINH:
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Nactad

| =JevY)

DA

LN 7

DA

7 ) 2 A [~ R 7 Q a
42 gls: "ROWS COLS" (i 244 siaH HINY] Gi-1d 8)
\

e 3(c) [7 2f 1] - OR iRl
Local 214 Global dfRAcid Gelsel 412 4H¥dl.
SdIGH:
26id: Local vs Global dRicica

USIR 2siy visaillcila2l el

Local dRvicic HIX % §SI4H] LilNid 21 & i HI YilNid S212 §Seld-] vieR §sel44] A€

Global dRicicy AU YIAHHI

sis Gelsrel:

# Global dlRyinid
total = 0

def add _numbers(a, b):
# Local df3Acic

sum result = a + b

G184l $S2l VisAY S 215

print (f"Local dfR¥vicid sum_result: {sum result}")

# Global dR¥icid ¥isdd s

print (f"Global dlRicid total HilS[§524 uddi: {total}")

# $selddl 2ie2 Global dR¥icid HilSsIyu s2dl
global total
total = sum result

print (f"Global df3icid total HilS[g5214 usl: {total}")

return sum_result

# Yud UIAMN
x =5 # 4w YUY Local
y = 10 # Yud YUIAMHHI Local

No. 12 / 25
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result = add numbers(x, y)
print (£"uReid: {result}")
print(f"?J-luﬁ\ZS global total: {total}")

# ¥ ofd VIUel SRRLl § sum result ¥ add numbers M2 Local €

# print(sum_result) # NameError: name 'sum result' is not defined

SIRJIRIIN:
L—>
P Main Program Variables: X,
rogram y, result Function Scope: [N Local Variables: sum_result,
add_numbers AR a,b
_,.V
Global Variables: PE———

443 2ls: "GLOBAL SEES ALL" (Global dRAcic cidl wief 215 )

yed 4(a) [3 21el]
Yl -l 221s$ d1gcii] 41 HAdRsd §seld [dae s2i.

¥AdIGi:

26id: UIki4 Math HisRld §se1-

gseld qeid Gersrel

abs() AoAIRJ2 dey AU & abs(-5) — 5

pow() x Ayl gid AN © pow(2, 3) — 8

max() il Higl dey AN © max(5, 10, 15) — 15

min() Aledl il dexy A & min(5, 10, 15) — 5
round() 4951 yRlis el 21GS 52 © round(4.6) — 5
math.sqrt() a2y math.sqrt(16) — 4.0
math.sin() 1Y sS4 math.sin(math.pi/2) — 1.0

43l gls: "PEARS Math" (Power, Exponents, Arithmetic, Roots, Sine functions in Math)

yed 4(b) [4 dge1]
Ui Hisd sis 12 xMdl.

¥dIGL:

HISRYE: U1 I-Hi HISYE AH2d Ul UIUAIAT A 222H-=3 g1dd] SI1Td. SIFgE] A .py 2i[§S 124 HISYAd 1M ©.
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# math Hisd-l Gualdld Gelswel
import math

# math HisyaHiall anfGifds sseiidi Guaidl

radius = 5

area = math.pi * math.pow(radius, 2)

print (£"(i%dl {radius} diOl ddnd aisn {area:.2f} ©")

# [dfde import 2s[Asadi Guaidl

from math import sqrt, sin

angle = math.pi / 4

print (£"25 4 9O {sqrt(25)} 8")
print(f"{angle} AUl A1gH {sin(angle):.4f} @")

# alias ¥lg import

import random as rnd

random number = rnd.randint(1l, 100)

print(£f"1 B4 100 YRRl 2-SH AGiR: {random_number}")

26id: Hisjld Import 2s(ds

usgld Ri2sy Geleel

A1 '-I‘ISQ\J'C-I import sl import module_name import math
2ﬁ5§élbﬂ92“Hin1p0rt from module name import iteml, from math import sqrt,
sl item2 sin

a"asauﬁirnportséi import module name as alias import random as rnd

#4432 2ls: "CODE-LIB" (Code Libraries for reuse) - s3l2il Guaiol Hi2 SIS dIgGIAI

ved 4(c) [7 2Lel]

IS UIAA4 YiAIH AUl & [A4ilRd 52 O 5 AN A6 "HIHRIDI 4612 © § dulIsdi-cdivaIRid siRi4i Guidl sdld
Uld-siu .

¥dIGi:

# Aok APl ® 5 ¢l d s seul IR Sseld

def is_ armstrong(num):
# isidl vl d1edl HI2 o4 (2o 3uidRd s?i
num_str = str(num)

n = len(num_str)
# €25 visd visiHl vl gid ydl Gamal udiniHl d1eid?]
armstrong_sum = 0
for digit in num_str:
armstrong sum += int(digit) ** n

# AUs SA S WA YO H6R Al HO WA &
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return armstrong sum == num

# -6k UldsH © s 4él d ds sAl M §sel

def is_palindrome(num) :
# A4 [R2oMi 3vidRd S A4 As s2A 5 d HPINA]l B4 Uisn] ds AUl dUR B
num_str = str(num)

return num _str == num str[::-1]

# Yud UIAN
number = int(input("¥s 462 €vid s2A: "))

# s s2A § Gl MRl © § Al
if is_armstrong(number):

print (£"{number} ¥is 2Pl -6k &")
else:

print (£"{number} ¥IHa2ldl iz Hail")

# US sA S 46 UldgH © § 4¢l
if is_palindrome (number) :

print (f" {number} ¥is ula-giH 2\9")
else:

print (f£" {number} Qfa{m -l?ﬂ")

26id: Gelsell

612 2101 As ula-siy As

153 13+53+33=1+125+27=153 V¢ 153 #351 x

121 13+23+13=1+8+1=102121X 121=121 ¢

1634 14+64+34+44=1+1296+81 +256=1634 v 1634 #4361 X
SIARAIM:

Yes—» Print - Is Palindrome —

Start  —» Input

Check Armstrong Print - Is Armstrong Check Palindrome

End

No—» Print - Not

J442] 2ls: "SAME SUM" (SAME 412101-U1€9¢) U[A-51H 412, SUM glid1 ASI-1 41422101 HI2)

yed 4(a) [3 del] - OR iRl
vIiHi [Gic2 g §Se1d Audi.

¥AdIGi:

Built-in Functions: 241 $5e1-1 Ul2i2i4-1 2215S dIgailHl @121 & 44 siguel Hisyd import sl [A-1 Gudce &,
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26id: 141 YIJ2Ai4 Built-in Functions

§seld &g Gelsel

print() HIG2y2 [sd print("Hello")

input() Y3 g4Ye d name = input("Name: ")
len() AHioss2] deIg A len([1l, 2, 3]) — 3

type() HIGFS2H] USIR A type(5) — <class 'int'>
int(), float(), str() JISSH USIRHI 3YidR int("5") — 5

range() Alsd-y ¥-22 52 list(range(3)) — [0, 1, 2]
sum() SECTIOIRIIE sum([1l, 2, 3]) — 6

43l gls: "PITS LCR" (Print, Input, Type, Sum, Len, Convert, Range)

yed 4(b) [4 do1e1] - OR iRl
¥is uIAid sisq Geleel Nl uIi4 H2 Hisldd deid s2l.
G

vIki4 Math Hiseyd: math Hisjd C 221-5S g2l cuuifd 211[Bilds sel-i-] visaial vel s2 ©.

# math HIdA4l Gualdl sdi Gels:wl

import math

# yooyd ReRis
print (£"pi | [S4d: {math.pi}")
print(f'e 4l (Sud: {math.e}")

# Bisieifld ssel (AHPYH2 2ASa-iHi)

angle = math.pi / 3 # 60 [s2l

print (£"{angle:.2f} Syl lg4: {math.sin(angle):.4£}")

print(f"{angle:.2f} ASu1 S {math.cos(angle):.4f}")
print(f"{angle:.2f} AUl 22 {math.tan(angle):.4£f}")

# diPiRaMs w4 visyuidl2rRid ssel-d

x = 10

print (£"{x} Al 4ud dPIReM: {math.log(x):.4f}")
print (£"{x} Al d@iPIRaM 6% 10: {math.loglO(x):.4f}")
print(f'e Al {x} did: {math.exp(x):.4f}")

# A 5501

print (£"25 4 9o0: {math.sqrt(25)}")
print(£f"4.3 41 Ao {math.ceil(4.3)}")
print(£"4.7 4l sdiR: {math.floor(4.7)}")
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26id: Math Hisejd 522112

522131 §sel-

@ﬂ!ﬁ math.pi, math.e
[GisieifHlda sin(), cos(), tan()
ddiRafis log(), logl0(), exp()
rﬁﬁﬁ% sgrt(), ceil(), floor()

43l gls: "PENT" (Pi/constants, Exponents, Numbers, Trigonometry)

yed 4(c) [7 21e1] - OR iRl

UIRIA14Hi dAGEAI AHdsiRiA] SRR AHWd] A Ui HiA1HHi dfEs 24 22ifds decd siiR did) s2l.

¥AdIGi:

A

UIAAi4Hi dRAGAA] 251U: d[RAGIAA] 251U 45S] 52 & § YiAMHI SUT dRAcid AsARGId § EWIY S,

26id: dRA6id 2sIU4I USIRI

asiy qeid

Local §sel] e UIwAIRId dlRAGIE

Global 2iU dad U2 uiwiifid dfRuicic

Enclosing A0S §S5e1-4I1 GlIg S5l dlRRAGIEH

Built-in Yrli4yi yédell ciwiiRid dRuicic
sis Gels2el:

# dRAcid 2siu SHigeld

# Global dR¥icid

count = 0

def outer function():
# Enclosing s dRicid

name = "Python"

def inner function():
# Local dlR¥Acid
age = 30
# Global dR¥cid sV 29
global count
count += 1

# Enclosing dR¥icid s s2q

No. 17/ 25

ENEEYEY

YI3 §5eld] vigR

MU MIAMHI

GHI&] A BHERA] §SRI4HI

HY YIAMHI



videliol WAIfEol (1323203) - (ei10] 2023 2iicjelal by Milav Dabgar

print(f"inner function 4l ig2: name is {name}")
print(f"inner function 4l e2: age is {age}")

print(f"inner function 4] »i€2: count is {count}")

# outer function HI2 Local dR¥icid

language = "Programming"

print(f"outer function 4l ¥i€2: name is {name}")
print(f"outer function 4l g2 language is {language}")
print(f"outer function -l ¥i€2: count is {count}")

# g42 $seld sid s2i

inner function()

# ¥l 0@ ¥IUel - age ¥ inner_ function HI2 Local &
# print(age)

# Yud UIAM
print (f£"Global asiU: count is {count}")

outer function()
print (£"ssel4 sid usl Global 2SiU: count is {count}")

# ¥l ofd uel - duil $seld HI2 Local &

# print(name)

# print(language)

SIRAIAINH:

v

count e .

a

Gilobal . .
inner_function

A 4

Local Scope: age

\\\\\\" . Enclosing Scope: name, Y
outer_function »>

language nan

#4u2l gls: "LEGB" (Local, Enclosing, Global, Built-in - 251y gsiu- sH)

Y-

5(a) [3 2]

HINd Y[AHi 6l g2sid 2du s2d1 HI2 YIAl HIAM Gi-Id].

¥dIGL:

\ \ \

# [deedi of Ail@d-=23 AU sAHI YA

# ¥is [da2 o1l
my list = [10, 20, 30, 40, 50]
print("yo [de2:", my list)

# 2du s2dl Hiedl vk Had)

posl
pos2

int (input ("yYeM Vi34 €vid s (5S4 0 2l 23 AR ©): "))
int (input ("cily) Uil evd s (g-Ssa 0 @l 23 U™ B): "))
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# 2R3 dlRviciadl Gualdl s34 vildd=a 2du s
if 0 <= posl < len(my_ list) and 0 <= pos2 < len(my_list):
# 49
temp = my list[posl]
my list[posl] = my list[pos2]
my list[pos2] = temp

print (£"vif3%e4 {posl} ¥4 {pos2} U2 ildd-=a 27du sai ugl [Ge:", my list)
else:
print ("M VilEld! Vi3l [deed] =34l vige ¢idl «igui.")

dslcis ugla:

# ulgelid4l tuple uH4ulSaiHl Gualdl s34 2du (dg ulkalifHs)
if 0 <= posl < len(my_list) and 0 <= pos2 < len(my_ list):
my list[posl], my list[pos2] = my list[pos2], my list[posl]
print (£"vif%e4 {posl} ¥4 {pos2} U2 ildd-=a 7du sai ugl [Gee:", my list)

261d: 24021 ugldAi

ugld sis
21y dR¥icidadi Guaiol temp = a; a = b; b = temp
Ula2id 2ud A4S a, b="0, a

H4u32l 2ls: "TEMP SWAP" (2nu22] dRAcid dMd 2d Ui HEE S2 ©)

yed 5(b) [4 dye]
Gels2el Il 422s [da2 4HMd]

¥AdIGi:

Nested List: Nested list »i2d Ad] (A2 %1 AldH=24 d2l$ A=A (G2 ¢, ¥ HE]-SIH-RI4d S21 2252 Gi-1d ©,

# Nested list Gidigd]l (3x3 H[lZs¥)
matrix = [

(1, 2, 31,

[4, 5, 6],

[7, 8, 9]

# AlAH2 Vs sl

print("aqpfﬁﬁsa:”, matrix)

print("yeM 2:", matrix[0])

print("2l 1, slé¥ 2 U2 2if@H=:", matrix[0][1]) # G2yz: 2

# AlAu2 HilSsiy sl
matrix[1][1] = 50
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print ("HIlS[$s524 usl HlEsA:", matrix)

# Nested list U2 YdRlddH
print("\nilZsa M= s 2@l Sluiz")

for row in matrix:

for element in row:

print (element, end=" ")
print() # €25 2 ugl 4dl digd
SIRJII2AIN:
matrix
A
Row Row Row
1 2 3 4 50 6 7 8 9
26id: Nested List 2Alu22l-
vl Ri2sy Gelsel
dilGH-=2 visaA list[row][col] matrix[0][1]
vildH- H\Irgsl'd list[row][col] = new value matrix[1][1l] = 50

4dl 21 Gardl

list.append([...])

matrix.append([10, 11, 12])

q443] 2ls: "MARS" (Matrix Access with Row and column Structure) - H2sa A5 21 244 SIAH HIOWI H12

yed 5(c) [7 2]

N

Gelsell 12 221 A1 dHNd]

¥VAdIGL:

26id: vIAAi4Hi (2291 vl
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RRiZa4
2a19(Fd1
g-3(53101
d-
"1l

sW[3334

sis Gelsrel:
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(3
qeid

(220 wisdl

[R2od Y214 (dd sedl

A 2221 AsAes2
ASJY S522
ses2 o0

\

SA S SIBR &

«©,
[0¢]

[EEREYESENIICY

# (o1 vHiueld SHip2l

text = "Python Programming"

# -S|

print("¥eM $3s22:", text[0])
print ("Scdl 53s22:", text[-1])

# 2d19(Jol

print("YH RIGE:", text[:6])
print ("cilsl 2l6€:", text[7:])

print ("M&dl $S2:", text[3:10])

print("Ruai:", text[::-1])

# [@o1 Hasy

print("U25d:", text.upper())
print ("dldRSd:", text.lower())

Gelseel

"Hello" + " World" — "Hello World"

"Python" * 3 — "PythonPythonPython"

"Python"[1:4] — "yth"

"Python"[O] — llPlI

len("Python") — 6

"P" in "Python" — True

"apple" < "banana" — True

print("'P' 4 'J' g Gledi:", text.replace("P", "J"))

print ("2 gkl [@d2:", text.split())
print("'m' Al 21e1d2]:", text.count('m'))
print("'gram' elieli: ", text.find("gram"))

# As Byl
print ("dicsIYiRs ©2", text.isalnum())

print("'Py' &l 213 2R 92", text.startswith("Py"))
print("'ing' @l JHRd A1 2", text.endswith("ing"))

SIRAIAIN:

No. 21/ 25



videliol WAIfEol (1323203) - (ei10] 2023 2iicjelal by Milav Dabgar

Python
Indexing: P (0), g (-1) Slicing: Python (0:6), Methods: PYTHON Checks: startswith,
¢ 9 Programming (7:) PROGRAMMING (upper()) endswith, isalnum, etc

443 gls: "SCREAM" (Slice, Concat, Replace, Extract, Access, Methods)

yed 5(a) [3 3je1] - OR direld
AN Y[AHi dHIM g2sidi Ad10 2Aledl H12 VI HiAIH Gi-1di.

¥YAdIGi:

# [devi gl vildd=a4l a1l 2ligdi-l Wi

# Uugld 1: [Gi@-g4 sum() $Sel4i Gualol
def sum list builtin(numbers):

return sum(numbers)

# ugld 2: qudl Guadl
def sum list loop(numbers):
total = 0
for num in numbers:
total += num

return total
# Jwd (G c-idl
my list = [10, 20, 30, 40, 50]

print("[de2:", my_ list)

# [Gle—g4 ssel4l Guaiol s34 a1 21l
print ("[Gi@-g4 $sel441 Guldl s34 uUINI:", sum list builtin(my list))

# qudi Guaidl s34 gl dlel
print ("gu-l Gualdl s34 AJINI:", sum list loop(my list))

261d: A=d10 uglddidl gai

ugld SIAEI
([Gice-g4 sum() R0, sligiH, 2554l
qu ilco1H se2H A difFs HI2 SH 52 ©

Hu2l 2ls: "ADD ALL" (€25 AlGH-24 GHRI)

yed 5(b) [4 3Jel] - OR dHireld
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U2 [GeHi F-5sild1 U4 2d19([21 vHiu2l-o AHNd]

¥YAdIGL:

26id: g-S(5491 V4 2a19[[21 Hiu2l-

divdald

vil3Ry
g-3(53401

P0ilZy
g-5(53421

cif3s
2a19@d1

22y A1
dIgA

gl3ly oisal

Y[ EL
2a19@d1

Raa

sis Gelsrel:

[R2sy

list[i]

list[-1i]

list[start:end]

list[start:end:step]

list[:end],
list[start:]

list[-start:-end]

list[::-1]

# gs[sor u4 2dIgF[ol SHi=22l

(3
qeld Gelerel

Yif33214 i U2 HI1g2H AsA s2i (0-

. fruits[0] — YUH VHIg2H
Gi23S)

videll vHigeH AsA 52 (-1 9¢d N

N fruits[-1] — ©cdl AIgaH
&)

fruits[1:3] — 1,2 Ul

start &l end-1 yeld1 A1
Ag2r

. . nums[1:6:2] — 1,3,5U2AI
step Al vdrId ¥l AHigary

UHlg2ry
2130 1d2l] A4l vid Yl fruits[:3] — YaH 3 AHlgar

fruits[-3:-1] — 3%) ¥ 2%)

Adell 2d1gy N
¢l

[d2e Rua s fruits[::-1] — [de2 Ryaiui

fruits = ["apple", "banana", "cherry", "date", "elderberry", "fig"]
print("yo [de2:", fruits)

# ¢-s[sIdl

print ("\ng-s/sddl Gelsaer: ")

print ("YaH AHlgeH:", fruits[0])

print ("®cdl dHigeH:", fruits[-1])

print ("l igeM:", fruits[2])

# 2d19(Jol

print ("\ndlg(Adl Gelgeli: ")

print("yeM Nl WIY2M:", fruits[:3])
print("éaﬂ AL A", fruits[-3:])
print ("H&AHl HIga:", fruits[2:4])
print("€3s Gily) AigeM:", fruits[::2])

print("@qeifaeaz", fruits[::-1])

‘apple']

SIRAIAIN:

# apple
# fig
# cherry

# ['apple', 'banana', 'cherry']

# ['date', 'elderberry', 'fig']

# [ 'cherry', 'date']
# [ 'apple', 'cherry', 'elderberry']

# ['fig', 'elderberry', 'date', 'cherry', 'banana',
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List:

Positive: fruits[0], fruits[1],

Negative: fruits[-1],
fruits[-2], ...

Slicing

Basic: fruits[1:3]

With step: fruits[::2]

Reverse:

43l Zls: "START-END-STEP" (2aig/(Jio1 [Ri-2s: [start & step])

yed 5(c) [7 3jel] - OR direld

%33 Gererel A1 tuple 4 gsHi A

¥dIGL:

Tuple: Tuple i i[@H-2a1 sHoIg, AHURddHla e B,

26id: Tuple vs List

gluR Tuple

[Ri2sa (iteml, item2)

ulRadeiladi Immutable (cied 21s1d] 42il)
\ €

u2giH- 235Ul

GuidI S ($s2s S2l, [Ssel4?] s1os

Hasy A] Heis

sis Gelsel:

# Tuples GiI9d]

empty tuple = ()
single item tuple = (1,)
mixed tuple = (1, "Hello",
nested tuple = (1, 2, (3,

# Tuple ildH-=a visdy s2al

HAdl.

# [Jord 1gey HI2 sl %32 ©
3.14, True)

4), 3)

print("YeH AHlgeH:", mixed_tuple[0])

print ("ocdl HigeH:", mixed tuple[-1])

# 1
# True

print("Nested tuple Jifav-=:", nested tuple[2][0]) # 3

# Tuple 2dIg[dd]

print ("YaH o AHlga: ", mixed tuple[:2])

# Tuple ¥i-u[5ol

a, b, ¢, d = mixed tuple

print ("¥-us sl deys:", a, b, ¢, d)

# (1,

"Hello")
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# Tuple HaS
print("1 -l dlid?l:", mixed tuple.count(1l)) # 1
print (" 'Hello' A sésa:“, mixed_tuple.index("Hello")) # 1

# Tuple A2l

combined_tuple = mixed tuple + nested_tuple
repeated_tuple = mixed tuple * 2
print("sﬁOHSS tuple:", combined tuple)
print("ﬁd&s tuple:", repeated tuple)

# ¥l 0@ luel SikRl S tuples immutable &
# mixed tuple[0] = 100 # TypeError: 'tuple' object does not support item assignment

SIJIRAINH:

‘ fuple 1 el 1% ‘
index[OI/index[ﬂ index[2] index([3]

‘ 1 ‘ ‘ Hello ‘ ‘ 3.14 ‘ ‘ True ‘ ‘ Access: tuple[i] ‘ ‘ Slice: tuple[i:j] ‘

Concatenate: tuple1 +

R t: tuple * t i
tuple2 ‘ epeat: tuple ‘ ‘ count() ‘ ‘ index() ‘

q4u3l Zls: "IPAC" (Immutable, Parentheses, Access only, Cannot modify) - »1uRad-la, sia, His AAsdid, HilSsI A
s3] 2I1s1
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